PNneulesad’ AC/ADZ%! MEEheE AC/ADZ%! HEEheE Pneulesad’

1| = — N A =
B BESRERRAZE B SMERTE (mm)
AC - [14][16] - 1]- H % I H ae
[m]
51 £ 1h0E JAa BeAll ] 1 1 o= 1 B o 1]
AC | FaiEEE TS| wEME
AD | mmst N | T c c |
E | B | 78 B |
ol — =
i S i . A
TR 1TE FiZ2| ADTE
1 | acEE e BEAR (K
> T aces (MODEL ) (Thread) | (Plroke)| A B ¢ D E F H !
5 | AcE= AC-0806 M8x 1.0 6 50 38 33 3 6 6.6 11 3
AC-0806-N M8x 1.0 6 44 38 33 3 - - 11 3
B JRE AC-1005 M10x1.0 5 38.7 27.7 22.9 3 6 8.6 12.7 3
AC-1005-N M10x1.0 5 32.7 27.7 22.9 3 = = 12.7 3
EAERER k SETE
B8 | fSiEmm | BATRKER Nm | TR Nm — ﬁ*ﬁ?ﬁEE 9 - X ﬁﬂﬁfﬁz’—’g i —— TramC AC-1008 M10x1.0 8 57 43 38 3 6 8.6 12.7 3
AC-1008-N M10x1.0 8 51 43 38 3 - - 12.7 3
AC-0806 6 2 8800 0.5 2 6 4 2 1 -36~80 AC-1210 M12x1.0 10 69.5 50 45.5 3 9.5 10.3 14 4
AC-1005 5 3 10800 1 3 7 4 2 1 -36~80 AC-1210-N M12x1.0 10 60 50 45.5 3 - - 14 4
AC-1008 8 4 15200 2 4 9 4 2 1 -36~80 AC-1412 Mi4x1.5 12 102.3 76 67 4 14.3 12 19 6
AC-1210 10 5 17640 5 10 30 4 2 1 36~80 AC 1A TAiTs > o8 - - 7 - = o 5
AC-1412 12 18 30000 8 50 100 4 2 1 -36~80 AC-1416 M14x1.5 16 125.3 95 86 4 14.3 12 19 6
AC-1416 16 20 36000 10 70 150 4 2 1 36~80 YEEVET A TE = e e o Z = = S 5
AC-1425 25 30 38000 15 100 180 4 2 L -36~80 AC-1425 Mi4x15 25 149.3 | 1102 101 4 14.3 12 19 6
202020 20 40 20000 B ;00 ;00 3‘5 = e ECaC AC-1425-N Mi4x15 25 135 110.2 101 4 - - 19 6
€-2030 30 >0 8000 30 00 00 > 25 L ~36~80 AC-2020 M20x1.5 20 148 110 101 6 18 18 26 8
AC-2040 40 60 55000 50 300 900 45 25 1 36~80
AC-2020-N M20x1.5 20 130 110 101 6 - - 26 8
AC-2050 50 70 60000 60 200 | 1200 45 25 1 36~80
AC-2030 M20x1.5 30 158 110 101 6 18 18 26 8
AC-2525 25 80 54000 200 800 | 1300 45 2.5 1 36~80
AC-2030-N M20x1.5 30 140 110 101 6 - - 26 8
AC-2540 40 120 75000 300 | 1000 | 1500 45 25 1 36~80
AC-2040 M20x1.5 40 179 121 110 6 18 18 26 8
AC-2550 50 130 90000 200 | 1100 | 1600 45 25 1 36~80
AC-2040-N M20x1.5 40 161 121 110 6 - - 26 8
AC-2580 80 150 120000 300 | 1300 | 2000 4 25 1 36~80
AC-2050 M20x 1.5 50 235 167 158 6 18 18 26 8
AC-2725 25 140 85000 400 | 1000 | 2200 4 25 1 36~80
AC-2050-N M20x1.5 50 217 167 158 6 = - 26 8
AC-2750 50 200 95000 600 | 1500 | 2500 4 25 1 36~80 T T - P 1 o . —~ - - -
AC-3325 25 160 75000 800 | 2000 | 2800 4 25 1 36~80 — = X1' > - — - . i - -
AC-3350 50 280 85000 1200 | 2500 | 3400 4 2.5 1 36~80 AC-2725- M25x1'5 25 e — 5 - — = - -
AC-3660 60 300 150000 1500 | 2800 | 4000 4 25 1 36~80 - 7x1.5 5 : ! :
AC-2725-N M27 x1.5 25 125 100 87 8 - - 36 10
AC-2750 M27 x1.5 50 208.8 140 127 8 18.8 22 36 10
| = /=0 = = o = = = 5 N=ET
B fFEmm | BARKEEENm | MERKEENM | BASKEEky | BSESEEm/s | TEREC pp— T T o0 T o T T s - - - -
AD-1007 7 5 12400 12 35 36-80
AD-1210 10 6 17640 30 35 36~80
AD-1410 10 20 25000 80 35 36-80 AC2540 AC2550/2580 AC3325/AC3350/AC3660
AD-1612 12 22 28000 160 35 36~80 " w Wt
AD-2016 16 25 30000 200 35 36~80 = g W
AD-2020 20 30 30000 250 3.5 -36~80 “F_ :;;;;?]'_ " - “I === 1] C
AD-2025 25 39 30000 312 35 36-80 o = c | . c
AD-2525 25 85 54000 400 3.5 -36~80 B A
AD-2530 30 95 60000 480 35 36-80
AD-2540 40 100 80000 700 3.5 -36~80 S BREUATR 772 A B c D E F H |
MODEL Thread mm
AD-2550 50 130 90000 720 4 36~80 ( ) ( ) (mm)
D 2580 5 0 150000 800 2 3680 AC-2540 M25x15 40 213 137 117 8 36 22 32 10
D 2725 > a0 25000 s 2 2680 AC-2550 M25x1.5 50 240 170.5 100 8 19.5 22 32 10
AD 2750 ™ 500 95000 1000 2 3680 AC-2550-N M25x 1.5 50 240 170.5 100 8 19.5 22 32 10
D 3650 % 50 100000 1200 2 3680 AC-2580 M25x15 80 336.5 237 100 8 19.5 22 32 10
AD 4225 > 260 125000 3000 s 3680 AC-2580-N M25x1.5 80 336.5 237 100 8 19.5 22 32 10
AD.4250 5% 500 150000 2000 s 36-80 AC-3325 M33x1.5 25 143 103 745 10 15 27.8 41 10
AD 4275 = 50 180000 5000 s “36-80 AC-3350 M33x15 50 208 143 114.5 10 15 27.8 41 10
AD64050 ” 2080 185000 2727 5 6-80 AC-3660 M36x1.5 60 248 162 134 10 26 35 46 10
AD-64100 100 4280 204000 18181 2 36~80
AD-64150 150 6150 248000 23636 2 36~80

197 198



Pneulead’

199

B SMERIE (mm)

AC/ADZR% jmEE =S

u\ 125 1 u\ /& |
e jE S o it —r4-4-- Ittt e ke 1
e | . Lﬂg B
A A
I
me gaam | JIE L 5 - D E F H |
(MODEL) | (Thread) (nz‘r’n‘)e
AD-1007 M10x1.0 7 79 58 44 3 7 8.5 12.7 3
AD-1007-N M10x 1.0 7 72 58 44 3 - - 12.7 3
AD-1210 M12x1.0 10 78 61 46 3 7 8.5 14 4
AD-1210-N M12x1.0 10 71 61 46 3 = = 14 4
AD-1410 M14x1.5 10 112.8 | 88.5 72.5 4 14.3 12 19 6
AD-1410-N M14x1.5 10 98.5 88.5 72.5 4 = = 19 6
AD-1612 M16x 1.5 12 117 90 76 4 15 13.5 19 6
AD-1612-N M16x 1.5 12 102 90 76 4 = = 19 6
AD-2016 M20x 1.5 16 151 117 101 4 18 18 26 8
AD-2016-N M20x 1.5 16 133 117 101 4 = = 26 8
AD-2020 M20%1.5 20 136 98 75 6 18 18 26 8
AD-2020-N M20x 1.5 20 124 98 75 6 = = 26 8
AD-2025 M20x 1.5 25 160 117 101 6 18 18 26 8
AD-2025-N M20x 1.5 25 142 117 101 6 = = 26 8
AD-2525 M25x%x1.5 25 163 118.5 101 8 19.5 22 32 10
AD-2525-N M25x1.5 25 1435 | 118.5 101 8 - - 32 10
AD-2530 M25x 1.5 30 168 118.5 101 8 19.5 22 32 10
AD-2530-N M25x1.5 30 1485 | 118.5 101 8 = = 32 10
AD-2725 M27x%x1.5 25 153.8 110 90.2 8 18.8 23 36 10
AD-2725-N M27 x1.5 25 138.8 110 90.2 8 - - 36 10
AD-2750 M27 x 1.5 50 218.8 150 130.2 8 18.8 23 36 10
AD-2750-N M27 x1.5 50 203.8 150 130.2 8 = = 36 10
AD2540 AD2550/AD2580 AE3650 -
B 81 ; b e N
_=D===;1.r o L ===
IEE | I . T B = 00— Em%@__:__- i
T L U R G o
G C e — ¢ — | _ L
E o B E ko B E 1712 . B
A A
BE BEAR 13
( MODEL ) (Thread ) Stroke A B C D E F G H |
AD-2540 M25x1.5 40 220.5 144.5 117 8 36 22 10 32 10
AD-2550 M25x1.5 50 247.5 178 100 8 19.5 22 = 32 10
AD-2580 M25x1.5 80 344 2445 100 8 19.5 22 - 32 10
AD-3650 M36x1.5 50 246.8 171 134 10 25.8 35.8 17 46 10
AD4225/AD4250/AD4275 AD64050/AD64100/AD64150
1 276 [0
CT-71°T w —0—-— -
C
B
RS BLLATR 182
(MODEL ) (Thread ) ( S}#r)rl](e ) A B © D E F G H |
AD-4225 M42x1.5 25 186.4 127.5 88 12 33.9 44.5 28.5 50 15
AD-4250 M42x1.5 50 240.9 157 117.5 12 33.9 44.5 28.5 50 15
AD-4275 M42x1.5 75 301.4 187.5 148 12 33.9 44.5 28.5 50 15
AD-64050 UNF21/2-12 50 247.8 146 26 20 51.8 59 23 76.2 9.4
AD-64100 UNF21/2-12 100 347.8 196 26 20 51.8 59 23 76.2 9.4
AD-64150 UNF21/2-12 150 467.8 256 26 20 61.8 59 23 76.2 9.4






